

					BIDDER 1 ANGEL BROTHERS ENTERPRISES P.O. Box 339 Bacliff, TX 77518		ENGINEER'S ESTIMATE 11011 Richmond Ave, Ste 200 Houston, TX 77042		AVERAGE OF ALL BIDS	
Item		BID TABULATION MASTER BASE BID Item Description	Unit Quantity	Unit Measure	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
No.	Ref	Clearing and Grubbing, Complete in Place, In accordance with Drawings and Specifications	94.51	STA	\$2,700.00	\$255,177.00	\$200.00	\$18,902.00	\$1,450.00	\$137,039.50
2		Milling Existing Asphalt Pavement (2" to 5") (Existing Rdwy & Drwy), In accordance with Drawings and Specifications	19127.62	SY	\$8.50	\$162,584.77	\$3.25	\$62,164.77	\$5.88	\$112,374.77
3		Remove ACP Pavement and Base for Full Reconstruction (All depths)	12509.58	SY	\$13.00	\$162,624.54	\$10.00	\$125,095.80	\$11.50	\$143,860.17
4		Excavation, In accordance with Drawings and Specifications	3127.40	CY	\$28.00	\$87,567.20	\$7.00	\$21,891.80	\$17.50	\$54,729.50
5		Remove Existing Concrete Curb and Gutter and Base (All Depths)	7,184	LF	\$6.00	\$43,104.00	\$10.00	\$71,840.00	\$8.00	\$57,472.00
		SUBTOTAL	FOR SITE PREP	ARATION ITEMS		\$711,057.51		\$299,894.37		\$505,475.94
BASE	UNIT P	PRICES FOR - PAVING								*
6		Hot Mix - Hot Laid Asphaltic Concrete Pavement (Surface) (1-inch)(110lbs/SY), Complete in Place, In accordance with Drawings and Specifications	730.20	TONS	\$120.00	\$87,624.00	\$100.00	\$73,020.00	\$110.00	\$80,322.00
7		Hot Mix - Hot Laid Asphaltic Concrete Pavement (Level-up) (1-inch)(110lbs/SY), Complete in Place, In accordance with Drawings and Specifications	730.20	TONS	\$120.00	\$87,624.00	\$100.00	\$73,020.00	\$110.00	\$80,322.00
8		Hot Mix - Hot Laid Asphaltic Concrete Pavement (Surface) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	1,454.10	TONS	\$120.00	\$174,492.00	\$100.00	\$145,410.00	\$110.00	\$159,951.00
9		Hot Mix - Hot Laid Asphaltic Concrete Pavement (Level-Up) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	1,454.10	TONS	\$120.00	\$174,492.00	\$100.00	\$145,410.00	\$110.00	\$159,951.00
10		Tack Coat (SS-1)(0.25Gal/SY), Complete in Place, In accordance with Drawings and Specifications	3,163	GAL	\$0.01	\$31.63	\$3.00	\$9,489.00	\$1.51	\$4,760.32
11		Prime Coat (SS-1)(0.10Gal/SY), Complete in Place, In accordance with Drawings and Specifications	7,910	GAL	\$0.01	\$79.10	\$4.00	\$31,640.00	\$2.01	\$15,859.55
12		Base Repair (At Select Areas)(10" Black Base)(1100 lbs/SY), Complete in Place, In accordance with Drawings and Specifications	3,675.60	TONS	\$139.00	\$510,908.40	\$115.00	\$422,694.00	\$127.00	\$466,801.20
13		Backfill Material, Reclaimed Asphalt Pavement (RAP) for Shoulder Dressing, In accordance with Drawings and specifications	56.47	STA	\$360.00	\$20,329.20	\$250.00	\$14,117.50	\$305.00	\$17,223.35
14		8" Base Crushed Limestone (Type A or B)(Grade 1), In accordance with Drawings and Specifications	12,509.58	SY	\$25.00	\$312,739.50	\$21.00	\$262,701.18	\$23.00	\$287,720.34
15		6" Lime Treated Subgrade, in accordance with Drawings and Specifications	12,509.58	SY	\$7.00	\$87,567.06	\$16.00	\$200,153.28	\$11.50	\$143,860.17
16		Lime (Hydrated Lime)(Dry), In accordance with Drawing and Specifications	168.88	TONS	\$220.00	\$37,153.60	\$320.00	\$54,041.60	\$270.00	\$45,597.60
17		Block Sodding for Site Restoration (5' Behind Curb)	4,227.0	SY	\$6.00	\$25,362.00	\$4.00	\$16,908.00	\$5.00	\$21,135.00



Item No.	Spec Ref	Item Description	Unit Quantity	Unit Measure	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
18		Remove and Replace Combination Curb & Grate Inlet	8.0	EA	\$2,600.00	\$20,800.00	\$1,200.00	\$9,600.00	\$1,900.00	\$15,200.00
19		2' Wide Concrete Curb and Gutter (with 8" Cement Stabil Sand), Complete in Place, In accordance with Drawings and Specifications.	7,184.0	LF	\$27.00	\$193,968.00	\$55.00	\$395,120.00	\$41.00	\$294,544.00
			SUBTOTAL FO	R PAVING ITEMS		\$1,733,170.49		\$1,853,324.56		\$1,793,247.53
BASE UNIT PRICES FOR - TRAFFIC CONTROL			8			,				
20		Temporary Traffic Handling and Control & Flagmen	4	МО	\$7,000.00	\$28,000.00	\$5,000.00	\$20,000.00	\$6,000.00	\$24,000.00
	SUBTOTAL FOR TRAFFIC CONTROL					\$28,000.00		\$20,000.00		\$24,000.00
BASE	UNIT P	PRICES FOR - SIGNING AND PAVEMENT MARKINGS			e e					
21		2-Way Blue Reflective Marker	15	EA	\$15.00	\$225.00	\$140.00	\$2,100.00	\$77.50	\$1,162.50
22		Thermo Pvmt Marking (24-inch)(White)(Solid), Complete in Place, In accordance with Drawings and Specifications	259	LF	\$6.00	\$1,554.00	\$10.00	\$2,590.00	\$8.00	\$2,072.00
23		City Project Signs, Complete in Place, In accordance with Drawings and Specifications	2	EA	\$1,000.00	\$2,000.00	\$706.67	\$1,413.34	\$853.34	\$1,706.67
		SUBTOTAL FOR SIGN	ING AND PAVEN	MENT MARKINGS		\$3,779.00		\$6,103.34		\$4,941.17
BASE	BASE UNIT PRICES FOR - SUPPLEMENTAL ITEMS									
24		Adjust Exist Manhole to grade, In accordance with drawings and Specifications	10	EA	\$300.00	\$3,000.00	\$1,000.00	\$10,000.00	\$650.00	\$6,500.00
25		Adjust Existing Water Valves to grade, In accordance with Drawings and Specifications	10	EA	\$300.00	\$3,000.00	\$1,000.00	\$10,000.00	\$650.00	\$6,500.00
	SUBTOTAL FOR SUPPLEMENTAL ITEMS					\$6,000.00		\$20,000.00		\$13,000.00
	TOTAL BID PRICE BY BIDDER					\$2,482,007.00		\$2,199,322.27		\$2,340,664.63



BID TABULATION ALTERNATE NO.1					BIDDER 1 ANGEL BROTHERS ENTERPRISES		ENGINEER'S ESTIMATE		AVERAGE OF ALL BIDS	
Item No.	Spec Ref	Item Description	Unit Quantity	Unit Measure	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
26		Clearing and Grubbing, Complete in Place, In accordance with Drawings and Specifications	34.34	STA	\$2,700.00	\$92,718.00	\$200.00	\$6,868.00	\$1,450.00	\$49,793.00
27		Milling Existing Asphalt Pavement (2" to 5") (Existing Rdwy & Drwy), In accordance with Drawings and Specifications	6319.37	SY	\$8.50	\$53,714.65	\$3.25	\$20,537.95	\$5.88	\$37,126.30
28		Remove ACP Pavement and Base for Full Reconstruction (All depths)	3543.63	SY	\$13.00	\$46,067.19	\$10.00	\$35,436.30	\$11.50	\$40,751.75
29		Excavation, In accordance with Drawings and Specifications	885.91	CY	\$28.00	\$24,805.48	\$7.00	\$6,201.37	\$17.50	\$15,503.43
		SUBTOTAL	FOR SITE PREP	PARATION ITEMS		\$217,305.32		\$69,043.62		\$143,174.47
BASE	UNIT F	PRICES FOR - PAVING		E E				4		
30		Hot Mix - Hot Laid Asphaltic Concrete Pavement (Surface) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	813.70	TONS	\$120.00	\$97,644.00	\$100.00	\$81,370.00	\$110.00	\$89,507.00
31	•	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Level-Up) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	813.70	TONS	\$120.00	\$97,644.00	\$100.00	\$81,370.00	\$110.00	\$89,507.00
32		Tack Coat (SS-1)(0.25Gal/SY), Complete in Place, In accordance with Drawings and Specifications	986	GAL	\$0.01	\$9.86	\$3.00	\$2,958.00	\$1.51	\$1,483.93
33		Prime Coat (SS-1)(0.10Gal/SY), Complete in Place, In accordance with Drawings and Specifications	2,466	GAL	\$0.01	\$24.66	\$4.00	\$9,864.00	\$2.01	\$4,944.33
34		Base Repair (At Select Areas)(10" Black Base)(1100 lbs/SY), Complete in Place, In accordance with Drawings and Specifications	1004.30	TONS	\$139.00	\$139,597.70	\$115.00	\$115,494.50	\$127.00	\$127,546.10
35		Backfill Material, Reclaimed Asphalt Pavement (RAP) for Shoulder Dressing, In accordance with Drawings and specifications	34.34	STA	\$360.00	\$12,362.40	\$250.00	\$8,585.00	\$305.00	\$10,473.70
36		8" Base Crushed Limestone (Type A or B)(Grade 1), In accordance with Drawings and Specifications	3543.63	SY	\$25.00	\$88,590.75	\$21.00	\$74,416.23	\$23.00	\$81,503.49
37	38	6" Lime Treated Subgrade, in accordance with Drawings and Specifications	3543.63	SY	\$7.00	\$24,805.41	\$16.00	\$56,698.08	\$11.50	\$40,751.75
38		Lime (Hydrated Lime)(Dry), In accordance with Drawing and Specifications	47.84	TONS	\$220.00	\$10,524.80	\$320.00	\$15,308.80	\$270.00	\$12,916.80
			SUBTOTAL FO	R PAVING ITEMS		\$471,203.58		\$446,064.61		\$458,634.10
BASE	UNIT F	PRICES FOR - SIGNING AND PAVEMENT MARKINGS								
39		2-Way Blue Reflective Marker	7	EA	\$15.00	\$105.00	\$140.00	\$980.00	\$77.50	\$542.50
40		Thermo Pvmt Marking (24-inch)(White)(Solid), Complete in Place, In accordance with Drawings and Specifications	96	LF	\$6.00	\$576.00	\$10.00	\$960.00	\$8.00	\$768.00
	SUBTOTAL FOR SIGNING AND PAVEMENT MARKINGS					\$681.00		\$1,940.00		\$1,310.50
	TOTAL BID PRICE BY BIDDER					\$689,189.90		\$517,048.23		\$603,119.06



	BID TABULATION ALTERNATE NO.2				BIDDER 1 ANGEL BROTHERS ENTERPRISES		ENGINEER'S ESTIMATE		AVERAGE OF ALL BIDS	
Item No.	Spec Ref	Item Description	Unit Quantity	Unit Measure	Unit Price	Total in figures	Unit Price	Total in figures	Unit Price	Total in figures
41		Clearing and Grubbing, Complete in Place, In accordance with Drawings and Specifications	29.69	STA	\$2,700.00	\$80,163.00	\$200.00	\$5,938.00	\$1,450.00	\$43,050.50
42		Milling Existing Asphalt Pavement (2" to 5") (Existing Rdwy & Drwy), In accordance with Drawings and Specifications	4328.45	SY	\$8.50	\$36,791.83	\$3.25	\$14,067.46	\$5.88	\$25,429.64
43		Remove ACP Pavement and Base for Full Reconstruction (All depths)	4608.45	SY	\$13.00	\$59,909.85	\$10.00	\$46,084.50	\$11.50	\$52,997.18
44		Excavation, In accordance with Drawings and Specifications	1152.11	CY	\$28.00	\$32,259.08	\$7.00	\$8,064.77	\$17.50	\$20,161.93
		SUBTOTAL	FOR SITE PREP	ARATION ITEMS		\$209,123.76		\$74,154.73		\$141,639.24
BASE	UNIT P	RICES FOR - PAVING								
45		Hot Mix - Hot Laid Asphaltic Concrete Pavement (Surface) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	737.30	TONS	\$120.00	\$88,476.00	\$100.00	\$73,730.00	\$110.00	\$81,103.00
46	× .	Hot Mix - Hot Laid Asphaltic Concrete Pavement (Level-Up) (1.5-inch)(165lbs/SY), Complete in Place, In accordance with Drawings and Specifications	737.30	TONS	\$120.00	\$88,476.00	\$100.00	\$73,730.00	\$110.00	\$81,103.00
47		Tack Coat (SS-1)(0.25Gal/SY), Complete in Place, In accordance with Drawings and Specifications	894	GAL	\$0.01	\$8.94	\$3.00	\$2,682.00	\$1.51	\$1,345.47
48		Prime Coat (SS-1)(0.10Gal/SY), Complete in Place, In accordance with Drawings and Specifications	2,234	GAL	\$0.01	\$22.34	\$4.00	\$8,936.00	\$2.01	\$4,479.17
49		Base Repair (At Select Areas)(10" Black Base)(1100 lbs/SY), Complete in Place, In accordance with Drawings and Specifications	706.30	TONS	\$139.00	\$98,175.70	\$115.00	\$81,224.50	\$127.00	\$89,700.10
50		Backfill Material, Reclaimed Asphalt Pavement (RAP) for Shoulder Dressing, In accordance with Drawings and specifications	29.69	STA	\$360.00	\$10,688.40	\$250.00	\$7,422.50	\$305.00	\$9,055.45
51	£	8" Base Crushed Limestone (Type A or B)(Grade 1), In accordance with Drawings and Specifications	4608.45	SY	\$25.00	\$115,211.25	\$21.00	\$96,777.45	\$23.00	\$105,994.35
52		6" Lime Treated Subgrade, in accordance with Drawings and Specifications	4608.45	SY	\$7.00	\$32,259.15	\$16.00	\$73,735.20	\$11.50	\$52,997.18
53		Lime (Hydrated Lime)(Dry), In accordance with Drawing and Specifications	62.21	TONS	\$220.00	\$13,686.20	\$320.00	\$19,907.20	\$270.00	\$16,796.70
	SUBTOTAL FOR PAVING ITEMS					\$447,003.98		\$438,144.85		\$442,574.42
BASE	BASE UNIT PRICES FOR - SIGNING AND PAVEMENT MARKINGS							×		E.
54		2-Way Blue Reflective Marker	8	EA	\$15.00	\$120.00	\$140.00	\$1,120.00	\$77.50	\$620.00
55		Thermo Pvmt Marking (24-inch)(White)(Solid), Complete in Place, In accordance with Drawings and Specifications	167	LF	\$6.00	\$1,002.00	\$10.00	\$1,670.00	\$8.00	\$1,336.00
	SUBTOTAL FOR SIGNING AND PAVEMENT MARKINGS					\$1,122.00		\$2,790.00		\$1,956.00
	TOTAL BID PRICE BY BIDDER					\$657,249.74		\$515,089.58		\$586,169.66
	GRANDTOTAL BID PRICE BY BIDDER					\$3,828,446.63		\$3,231,460.08		\$3,529,953.36